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Y Part A: Vocabulary
| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence, Then mark the correct choice on your answer sheet.

I- He is @ woman of ---—--— who has never abandoned his principles for the sake of making
ml:ll'll!!'.

I} utility 2} integrity 3} treaty £} acrimony
2- The loud sound of the radiator as it released steam became an increasingly annoving
1} interval 2) perception 3} zenith 43 distraction
3- Jackson’s poor typing skills were a to finding employment at the nearby office
complex.
I} hindrance 1) supplement 3) confirmation 4 versatility
4- The judge dismissed the extraneous evidence because it was not ———-- to the trial.
11 obedient 2} treacherons 1) pertinent 4) vulnerable

5- Becapse hiology is such a —---—— swhject, it is subdivided into separate branches for
convenience of study.
|y deficient 2) consistent 1) broad 4} mutual

6~ In addition, physicians may have difficulty in deciding that an illness can be ---—-- the job,
Many industrial diseases mimic sickness from other causes.

13 attributed to 2} precluded from 1) refrained from 4) exposed o
7- Mechanics was one of the most highly developed sciences —---—-- in the Middle Ages.
|} extracted 2) persisted 3} resolved 4) pursued

8- In the absence of death from other causes, all members of a population may exist in their
environment until the of senescence, which will cause a decline in the ability of
individuals to survive,

1) ratio 2) onset 3 core 4) output

9- Before the invention and diffusion of writing, translation was
professionally specializing in such work were called interpreters.
I subsequent 20 unilateral 1) eventual 4} instantaneous

10-Public attitwles toward business regulation are somewhat semeees ==} most people resent
intrusive government rules, yet they expect government to prevent businesses from defrauding
or endangering them.

1} cogent 2) emotional 3) ambiguous 4) indifferent

and oral: persons

1 Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on vour snswer sheeL.

The variety of successful dietary strategies (1) —-s-sse=s by traditionally living populations provides an
important perspective on the ongoing debate about how high-protein, low-carbohydrate regimens such
as the Atkins diet compare with {12} ~====-e=a- underscore complex carbohvdrates and fat restriction. The

fact that both these schemes produce weight loss is not surprising, (13) ——---- — both hefp people shed
pounds through the same basic mechanism: (14) -——--- - major sources of ealories. When vou create
an energy deficit —that is. when you consume fewer calories (15} —-ceee- —your body begins burning
its fat stores and you lose weight.

1= 1} emploved 2} are employed 3} is employed 471 then employed

12- 1) those that 2} the ones they 3} that which 47 they

13- 1} im fact 2} although 3) likewise 4 because

14- 1} limit 2) limiting 3} which limit 43 with limiting

15= 1} are expended 2 that they are expended

3) than you expend 4} to expend
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PASSAGEL

Powdery mildew is a fungal disease that affects a wide range of plants. Powdery mildew
diseases are caused by many different species of fungi in the order Erysiphales. It is one of the
easicr diseases to spot, as its symptoms are quite distinctive. Infected plants display white
powdery spots on the leaves and stems. The lower leaves are the most affected, but the mildew
can appear on any above-ground part of the plant. As the disease progresses. the spots get
larger and denser as large numbers of asexual spores are formed, and the mildew may spread
up and down the length of the plant. Powdery mildew grows well in environments with high
humidity and moderate temperatures, In an agricultural setting. the pathogen can be controlled
using chemical methods, genetic resistance, and careful farming methods, It is important to be
aware of powdery mildew and its management as the resulting discase can significantly reduce
crop vields, Powdery mildew fungi reproduce both sexpally and asexually. Sexual
reproduction is via chasmothecia (formerly cleistothecium), & type of ascocarp. Within each
ascocarp are several asci. Over time, ascospores mature and are released to initiate new
infections. Conditions necessary for spore maturation differ among species. Controlling the
disease involves eliminating eonducive conditions as much as possible by altering planting
density and carefully timing applications and rates of nitrogen, Since nitrogen fertilizers
encourage dense leafy growth, nitrogen should be applied at precise rates, less than 70 pounds
per acre, to control decrease severity. Crop rotation with non-host plants is another way o keep
mildew infection to a minimum, however the aerial nature of conidia and ascospore dispersal
makes it of limited use. Wheat powdery mildew can also be controlled by eliminating the
presence of volunteer wheat in agricultural fields as well as tilling under crop residues.

16. We may understand from the passage that..........

1. there are pink to white spois an the leaves of discased plants

2, one special specie of fungi, Erysiphales, causes powdery mildew
3. powdery mildew does not appear on under-ground parts of plants
4. nearly all plants are affected by powdery mildew at some stage

17. The passage points to the fact that.....come

1. spores are formed on a plant even before the disease starts Lo progress
2, planting density may heavily influence powdery mildew spread

3. powdery mildew can be controlled by proper use of fertilisers

4. in rare cases of the deisease mildewy lines appear at the back of leaves

18. The passage does NOT mention that powdery mildew can be dealt with through.......
1. farming methods 2. genetic resistance
3. chemical means 4. high humidity
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19. We understand from the passage that.................

. nitrogen is not itself one of the causes of powdery mildew

2. asei have little application in the asexual reproduction of mildew
3. nitrogen fertilizers encourage dense leafy growth

4. mildew infections finally result from mature ascospores

20 It is stated in the passage that...........o....
L. crop residues contain wheat powdery mildew 2. there is 70 pounds of fertiliser per acre
3. volunteer wheat is high-yielding variety 4. conidia doesn't scatter through the soil

EASSAGEZ

The heterokonts or stramenopiles are a major line of eukaryoles currenily containing more than
HLOOD known species. Most are algae, ranging from the giant multicellular kelp to the
unicellular diatoms, which are a primary component of plankton. Other notable members of the
Stramenopila include the (generally parasitic) comycetes, including Phytophthora of Irish
potato famine infamy and Pythium which causes seed rot and damping off, Heterokont algae
are chromists with chloroplasts surrounded by four membranes, which are counted from the
oulermost o the innermost membrane. The first membrane is continuous with the host's
chloroplast endoplasmic reticulum, or ¢ER. The second membrane presents a barrier between
the lumen of the endoplasmic reticulum and the primary endosymbiont or chloroplast, which
represents the next two membranes, within which the thylakoid membranes are found. This
arrangement of membranes suggest that heterokont chloroplasts were obtained from the
reduction of a symbiotic red algal eukaryote, which had arisen by evolutionary divergence
from the monophyletic primary endosymbiotic ancestor that is thought 1o have given rise to all
eukaryolic photoautotrophs. The chloroplasts characteristically contain chlorophyll a and
chlorophyll ¢, and usually the aecessory pigment fucoxanthin, giving them a golden-brown or
brownish-green colour. Most basal heterokonts are colourless. This suggests that they diverged
before the acquisition of chloroplasts within the group. [However, fucoxanthin-containing
chloroplasts are also found among the haptophytes. These two groups may have a common
ancestry, and possibly also a common phylogenetic history with cryptomonads. This may be
interpreted as supgesting that the ancestral heterokont was an alga, and all colourless groups
arose through loss of the secondary endosymbiont and its chloroplast,

21. The passage mentions that......... Beisidiis

I the Stramenopila are basically parasitic oomycetes (e.g. Phviophthora)

2. plankton are mainly composed of heterokonts {or stramenopiles)

3, the algae family range from the multicellular kelp to the unicellular diatom
4. stramenopiles contain more than 100,000 known species of heterokonts

22, It is stated in the passage that................

1. haptophytes can include fucoxanthin-containing chioroplasis

2. chromists and chloroplasts are surrounded by up to four membranes
3, the Irish potato famine was caused by Pythium along with seed rot
4. first and second membranes are made up of the host's cER
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23. What, according to the passage, has precisely given rise to ull eukaryotic
photoautotrophs?

1. ‘the evolutionary arrangement of membranes’ 2 *a symbiotic red algal eukaryote’
3. ‘the monophyletic primary endosymbiotic ancestor” 4, ‘heterokont chloroplasts’

24, The passage points to the fact that most basal heterokontS....ooceeeee.
| are chemically similar to eukaryotic photoautotrophs

2. acquired chloroplasts from ¢hains of haptophytes

3. have a secondary endosymbiont (and its chloroplast)

4. share a phylogenetic history with eryptomonads

25. The word *divergence’ in the passage (underlined) is closest 0. i
1. ‘formation’ 2, “separation’

3, “reaction’ 4, ‘combination’
PASSAGE 3

Phosphorus is important in plant bioenergetics. As a component of ATP, phosphorus is needed
for the conversion of light energy to chemical energy (ATF) during photosynihesis.
Phosphorus can also be used to modify the activity of various enzymes by phosphorylation,
and ean be used for cell signaling. Since ATP can be used for the biosynthesis of many plant
hiomolecules, phosphorus is important for plant growth and flower'seed formation. Phosphate
esters make up DNA, RNA, and phospholipids. Most commen in the form of polyprotic
phosphoric acid (H;PO4) in soil, but it is taken up most readily in the form of HPO..
Phosphorus is limited in most soils because it is released very slowly from insoluble
phosphates. Under most environmental conditions it is the limiting element because of its small
concentration in soil and high demand by plants and microorganisms. Plants can increase
phosphorus uptake by a mutualism with mycorrhiza. A Phosphorus deficiency in plants is
characterized by an intense green coloration in leaves. If the plant is experiencing high
phosphorus deficiencies the leaves may become denatured and show signs of pEcrosis.
Oiceasionally the leaves may appear purple from an accumulation of anthocyanin. Because
phosphorus is a mobile nutrient, older leaves will show the first signs of deficiency. It is useful
to applv a high phosphorus content fertilizer, such as bone meal, to perennials to help with
successtul root formation. Potassium regulates the opening and closing of the stomata by a
potassium jon pump. Since stomata are important in water regulation, potassium reduces water
loss from the leaves and increases drought tolerance. Potassium deficiency may cause
-nterveinal chlorosis. K is highly mobile and can aid in balancing the amion charges within the
plant. It also has high solubility in water and leaches oul of soils that rocky or sandy that can
result in potassium deficiency.

26. We may conclude from the passage that....coeee

I. the biosynthesis of many plant biomelecules in done only by ATP

2. various phosphorylation enzymes can be used for cell signaling

3. phosphorus converts all sorts of energy 10 ATP in plant bioenergetics

4. most soils do not contain the right amount of polyprotic phosphoric acid
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27. It is stated in the passage that...............

1. denatured leaves force the plant to experience phosphorus deficiency

2. polyprotic phosphorie acid {H,PO.) is the most common soil combination
3. plant leaves grow extremely green as a result of phosphorus deficiency

4. older leaves will show the first signs of nutrient phosphorus mobility

28. According to the Passage, ...

1. mutualism with mycorrhiza helps plants can increase phosphorus uptake
2. anthocyanin may be present in the leaves if they turn purple in the fall

3. phosphorus content fertilizers cause root formation as perennials

4, phospholipids are the main components making up DNA and RNA

19, The passage mentions that............... o

I. plants can have their anion charges balanced through K '"s high mobility

2. stomata regulate water and potassium loss in the leaves in time of drought
3, potassium develops an ion pump by opening and closing the stomata

4. water solubility depends on whether the soil is properly potassium saturated

30. The word ‘necrosis’ in the passage {underlined) is best related to................
l. ‘disegse” 2 ‘starvation’
3 “death’ 4. ‘maturation’
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